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C. Perform work only in areas
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D. Respect privacy
0 Whic deﬁni[fun best fits augmented reality?
A. Tec "rns physical object into digital objects
= Jeg Mology that ompletely immerses ysers in a new digital environment
C. T’Eﬂhﬂﬂlﬂg}’ that Overlays digjtal nformation on lop of real world items
D, Technulngy that can achjeye a human —eye understanding of images
11 Whl:ﬂh one of the tl}“uwing tses gibfeq -Mounted Display (HMD) that employs a video-
MixXing and displays the mierged images g g closed-view HMD?
A. Sensor C. Video See-through
B. Opticaj see-through D. GPS
12. Which one of the l'bllnwing IS not risk ares ol Cmerging techrmlng}- ]
A. Driverless car C. Wearapje:
B. Drones _ D. Actuators
13. Which one of the following is negative aspect of lOT?
A. Created new concern about privacy - It has bee, hampered by *Pam and vi
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( 2 ) ;Eﬂ"lall devige lise C. Passive engagement
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A. Flexibility
B. Agreement

C. privacy
D. Security

4. Which one of the following is not Applicati G5 s
A. Interactive lessons PR aug":":;:;:fﬁfﬂ:is:ucaﬁan?
B. nghﬂf engagement Do ization
5. Which of the following is not true about virtual reality?
A. Fully immersive
" B. Computer simulated reality
C. Done using mobile apps
D. Done using wearable devices
6. According to the 2020 conceptual framework IOT is formulated as
A. 10T=Service + Data +computer + Sensor.~ |
B. 10T=Service + Device +Network + Sensor i
C. 10T=Service + Data +Network + Sensor
D. 10T=Service + Data +Network + Monitoring




